ANSWERS FOR MOCK EXAM 1 (AFTERNOON SESSION)

1.
B   
Standard I Fundamental Responsibilities. The general rule is that if applicable law is more strict than the requirements of the Code and Standards, members, CFA charterholders, and candidates in the CFA Program must adhere to applicable law; otherwise, they must adhere to the Code and Standards.
2.
B   
Standard II(C) Prohibition against Plagiarism. By using material prepared by another without acknowledging and identifying the developer of the model, Charlie had committed plagiarism.
3.
D   
Standard III(A.1) Obligation to Inform Employer of Code and Standards. The standard indicates that Sheria must inform her employer in writing, though her direct supervisor, that she is obligated to comply with the Code and Standards and is subject to disciplinary sanctions if she violates the Code and Standards.
4.
D   
Standard III(E) Responsibilities of Supervisors. If Edison clearly cannot discharge supervisory responsibilities because of an inadequate compliance system, he should decline in writing to accept supervisory responsibility until the firm adopts reasonable procedures to allow him to adequately exercise such responsibility.
5.

B   
Standard IV(B.l) Fiduciary Duties. Roy may "pay up" for goods and services without violating his fiduciary duty as long as the commission paid is reasonable in relation to the research and execution services received.
6.

D  
Standard IV(B.3) Fair Dealing. This standard covers how Samuel treats his customers. IV(B.4) Priority of Transactions covers his personal trading behavior.
7.
D     

8.
C  
Standard IV(B.4) Priority of Transactions. Transactions for clients and employers have priority over transactions in securities or other investments for which Doris is a beneficial owner. This is to insure that personal transactions do not operate adversely to her employer's interests. Doris may undertake transactions in accounts for which she is a beneficial owner only after her clients and employer have had an adequate opportunity to act on the recommendation.

9.

A   
Standard IV(B.4) Priority of Transactions. Maggie is prohibited from conveying such information to her mother, because this relationship makes Maggie a beneficial owner of her mother's securities.
10.

A   
Standard IV(B.8) Performance Presentation. Vincent's statement misrepresent his track record because his composite does not contain accounts with a similar strategy or investment objective.

11.

C.

Standard IV(B.7) Disclosure of Conflicts to Clients and Prospects. The fact that Karen's sister-in-law worked in Sun Limited’s payables department is the least likely to impair her ability to make unbiased and objective recommendations.
12.
A   
Standard IV(B.8) Disclosure of Referral Fees. Members must describe-in the disclosure the nature of the consideration and the estimated dollar value of the considerations. They also must disclose all referral agreements in writing.
13.
C   
Standard V(A) Prohibition against Use of Material Nonpublic Information. The union president has material nonpublic information. Grodon received material nonpublic information in confidence. Therefore, he is not permitted to breach that confidence by trading in securities to which such information relates. Parker should make a reasonable effort to achieve public dissemination of material nonpublic information disclosed in breach of duty.
14.
C   
The fourth main topic of the AIMR Performance Presentation Standards is presentation of results.
15.
C   
Time-weighted rates of return must be used.
16.

D   

Standard II(A) Use of Professional Designation. The CFA and Chartered Financial Analyst designations must always be used as adjectives, never as nouns or common names. The appropriate description would be "Roger Langley is one of two CFA charterholders in the company."
17.

D   Standard II(C) Prohibition against Plagiarism. All sources used in an analyst's report should be referenced as to the source, author and publisher. The only exception being factual information published by recognized financial and statistical reporting services,
18.

D  
Standard. III(B) Duty to Employer. According to this standard, "Members who plan to engage in independent practice for compensation should provide written statements to their employer describing the types of service the members will render prospective independent clients, the expected duration of the services, and the compensation for the services."
19.

A  
Standard IV(A. 1) Reasonable Basis and Representations. Overhearing a conversation among the production workers did not constitute a reasonable basis for changing the recommendation.
20.

C  
Standard IV(A.3) Independence and Objectivity.


Choice A. April should limit the acceptance of gratuities and/or gifts to token items with a $100 maximum value.


Choice B. April should pay for commercial transportation and hotel charges when making company visits. Her company will most likely reimburse her for these expenses.


Choice D. April should pay her own expenses and should not accept compensation from a company that she is analyzing because it may affect her ability to maintain independence and objectivity in making investment recommendations.
21.

B   
Standard V(B.2c) Portfolio Investment Recommendations and Actions. Billy failed to distinguish between facts and opinions. He should have said The earnings K&K Corp.'s earnings are estimated to be" $10.05 per share next fiscal year.
22.

D   
Standard IV(B.4) Priority of Transactions. Give clients and employers priority over your personal interest. Personal transactions include: 1. trades for your own account. 2, trades for your family's account 3. trades for accounts in which you have a beneficial interest.
23.
D 
Standard IV(B.6) Prohibition Against Misrepresentation of Services. Stephen appropriately stated the firm's available services. Stephen should avoid misrepresentations involving (1) the services that he or his firm is capable of performing, (2) his qualifications or the qualification of his firm, (3) his academic or professional credentials, and (4) unwarranted assurances or guarantees about any investment, unless warranted.
24.
C   Standard IV(B.7) Disclosure of Conflicts to Clients and Prospects. Catherine must disclose (1) special relationships - directorships and consultancies, (2) underwriting and financial relationships, (3) broker dealer market making activities, and (4) material beneficial ownership. The fact that her next-door neighbor works for Toy’s limited is not a conflict requiring disclosure to clients and prospects.
25.
C
	Time 
	Cash Flow 
	Future Value at Year 4 

	1 
	$1,000 
	$1,000 (1.2)3 = $1,728 

	2 
	$1,500 
	$1,500 (1.2)2 = $2,160 

	3 
	$2,000 
	$2,000 (1.2)1 = $2,400

	4 
	$2,500 
	$2,500 (1.2)0 = $2,500

	
	
	      Total = $8,788 


26.
A   Because the bond is a perpetuity, the present value of the bond is calculated as PV = A/r, where A is the annuity and r is the required rate of return. Thus, PV = $80/0.12 = $666.67
27.
B   Choices B describe a histogram.
28.
C   The mean is the sum of the numbers/number of observations = 165/11 = 15.


The median is the middle item of a group that has been sorted into ascending or descending order = 16.


The mode is most frequently occurring value in a distribution = 16.
29.
D   The range is the maximum value - minimum value = 55 - 20 = 35


Calculate the mean: (35 + 20 + 30 + 50 + 55)/5 = 38. To get the mean absolute deviation, sum the deviations around the mean ignoring the sign and then divide by the number of observations = (3 + 18 + 8+ 12 + 17)/5=11.6.


Sample variance = (32 + 182 + 82 + 122 + 172) / (5 - 1) = 207.5
30.
D 

The distance to the left from the mean to the beginning of the range is 13. The distance to the right from the mean to the end of the range is 10. Therefore, the distribution is skewed to the left, which means that it is negatively skewed.

31.
D    Choice B: The multiplication rule for independent events generalizes to more than two events.



Choice A: Two events are dependent if the occurrence of one is related to the probability of occurrence of the other.

32.
A    Less than 5 percent is about 16 percent.

33.

B   The standard error of the sample mean is s/n1/2=15/3241/2=0.83

34.
B   The appropriate test is a t-test concerning differences between means. 



Because the critical value is greater than the computed t-value, the null hypothesis cannot be rejected at the 0.05 level of significance.

35.
B   
The cumulative absolute frequency of the fourth interval is 80. Which is the sum of the absolute frequencies from the first to the fourth intervals.
36.
A   
The geometric mean is always equal to or less than the arithmetic mean.
37.
D   
Mean = 120/10 = 12, median = 10, and mode = 10. The distribution is skewed to the right, so the mean is greater than the median and mode. Generally, for positively skewed distributions, the mode is less than the median, which is less than the mean. In this case, the mode and median are equal because the number of observations is small.
38.
B  
The coefficient of variation, CV = standard deviation/arithmetic mean, is a common measure of relative dispersion (risk). CV1 = 0.4/0.3 =1.33; CV2 = 0.6/0.6 =1; CV3 = 4.8/1.3 = 3.69; and CV4 = 5.2/1.7 = 3.06. Because a lower CV means lower relative risk, Security 2 has the lowest relative risk and Security 3 has the highest relative risk.
39.

B   
Choice A. A random variable is a quantity whose outcomes are uncertain.


Choice B: Subietlive probability is a probability changing our personal-judgment
40.
B
The normal distribution has a skewness of 0 because it is symmetrical.
41.
A  
The 90 percent confidence interval is 10% ± 1.645 (4%) or from 3.42% to 16.58%.
42.
C  
Using the standard normal probability distribution, Z = (observation - mean)/ standard deviation = (0 –10)/5 = - 2.00, the chance of getting zero or less return (losing money) is 1 - 0.9772 = 0.0228% or 2.28%. An alternative explanation: The expected return is 10 percent. To lose money means, the return must fall below zero. Zero is about two standard deviations to the left of the mean. Fifty percent of the time, a return will be below the mean and 2.5 percent of the observations are below two standard deviations down. About 97.5 percent of the time, the return will be above zero. Thus, only about a 2.5 percent chance exists of having a value below zero.
43.
C   
Heteroskedasticity refers to an error term when the variance of the errors differs across observations.
44.
D    

45.
A   
Required reserves = (Demand deposits)(Reserve requirements) = (350)(0.12) = 42.


Excess reserves = Actual reserves - required reserves= 50 -42 =8. This is the amount the bank can lend out.
46.
A  
With rational expectations, decision makers make random errors but they make systematic errors with adaptive expectations. 

47.
A  
In the short run, a price search may make either economic profits or losses, depending on market conditions. After long-run adjustments have been made, only normal profits (i.e., zero economic profit) will be possible because of the competitive conditions caused by freedom of entry.
48.
C   
49.

A 
The Japan will need dollars to pay for the equipment. Dollars will be bought and yens sold increasing the demand for dollars and increasing the supply of yens.

50.
C

51.
C  
rD – rF =[(f-s)/s] This is interest rate parity.




rD – rF =[(f-s)/s] Borrow local currency and lend foreign currency




If rD – rF =[(f-s)/s] Borrow foreign currency and lend local currency




Under interest rate parity, (f-s)/s=rD-rF, F=[(0.08-0.05) X 3] +3 = 3.09

52.
B   
The bid is the price at which the bank will buy foreign currency, and the ask is the price at which the bank will sell foreign currency.




The lesser a currency is traded the wider the spread.




Forward spreads are wider than spot spreads.




The smaller the transaction size, the wider the spread.




The greater the exchange rate risk, the greater the bid-ask spread.

53.
A   

54.
A.


55.
C   
Expansion monetary policy results from purchasing addition U.S. securities, lowering the discount rate, and reducing reserve requirements.
56.
C   The most common tool used by the Fed to alter the money supply is open market operations – buying and selling of U.S. securities on the open market. If the Fed wanted to reduce the money stock, it would sell some of its current holdings of government securities.

57. 
C
If excess capacity is present, the main impact of an unanticipated expansionary monetary policy will be on employment and output Prices, however, will rise in the short run but to a lesser degree than employment and output.
58.

D 
The law of diminishing returns states, that as more resources are used in a production process, the additional units of input increase output, but at an ever decreasing rate.
59.

A   
A company faces a flat demand curve. This means the price is constant and the marginal revenue line is flat. A company will continue to produce as long as MR > MC. so the competitive company will produce as long as P>MC. It will stop when MC = MR = P.
60.

B    

61.

C   The mark appreciated because it now takes lesser marks to buy a dollar.

62.
B.
63.
C   
By using indirect method:



CFO: Net Income



+700



Non cash items: depreciation

+ 10



Change in accounts receivable

 (50)



Change in inventory



 (60)



Chang in accounts payable

 (40)



Sum





 560
64.
A  
Investing cash flows include buying and selling equipment and land. This problem does not involve any such cash flows.

65.
B   
Sale of common stock         $150




Repayment of debt            (20)





Financing cash flows           130
66.

B   
Free cash flow (FCF) = Cash flow from operations - capital expenditures 



FCF=$1,100 - 70 (purchase of plant and equipment) + 50 (sale of land) =$1,080.
67.

D   
Current ratio - Current assets/Current liabilities



Quick ratio - (Current assets -investing)/Current liabilities



For Example, CA = $400 consisting of cash = $50, accounts receivable = $150, and inventories = $200; and CL=$200.


Before: Current ratio = $400/$200 = 2.0x; Quick ratio = $200/$200 = 1.0x


Assume that the company uses $50 in cash to pay off $50 in notes payable.


After: Current ratio = $350/$150 = 2.3x; Quick ratio = $150/$150 = 1.0x.
68.

C   Greater the number of shareholders the greater the liquidity.

69.
A.
70.
B

71.
C   FIFO INV = LIFO INV + LIFO Reserve


X = 30,000 + 7,000


X =37,000
72.
D
73.
C   
Deferred Tax       



Year 1 $2,040-$1,800 
= $240


Year 2 $2,040-$1,800

= $240


Balance

= $480
	
	Tax Year 1
	Tax Year 2 
	Fin Year 1 
	Fin Year 2 

	Revenue 
	5,000 
	5,000 
	5,000 
	5,000 

	Depreciation 
	2,000 
	2,000 
	1,600 
	1,600 

	EBT 
	3,000 
	3,000 
	3,400 
	3,400

000 

	Tax (0.4) 
	1,200 
	1,200 
	1,360 
	1,360 

	EAT 
	1,800 
	1,800 
	2,040 
	2,040 


74.
C   
Only temporary differences result in deferred tax consequences.
75.

C   
76.
B   
This is the direct method, which starts at the top of the income statement with sales and then works with the individual components of net income directly related to cash flows.



Net sales


2500


Accounts receivable (down)


700 source


Cost of goods sold


(800) 


Inventory (up)


(80), use


Accounts payable (up)


 90, source


Cash interest paid


(30) 


Cash interest received


 40       


Cash flow-from operations     
1,790

77.
B   
The company bought equipment $120, which was a cash outflow.
78.
B   
Paid dividend             (120)


Sales of stock             300



Retired debt              (100)



Financing cash flow        80  
79.
C.
80.
A  
ROE = [(S/A)(EBIT/S) - (I/A)](A/EQ)( 1 - t)



ROE 2001 =[(2)(0.3)-(0.06)](2)(0.8) = 0.864


ROE 2002 = [(2)(0.15) - (0.06)](2)(0.8) = 0.384


Profit margin fell so ROE fell.
81.
A.

82.
C.

83.
C   
Current ratio = CA/CL = 55/35 = 1.57 times.
84. 
B   
ROE = EAT/ Equity = (0.2)(1,000) / (0.55)(3,000) = 0.12 or 12%

85.
D   
86.
D  
Choice A: In the MM world with taxes, the more a company borrows the greater the tax benefit that will accrue to the remaining stockholders. The optimal capital structure in a tax world will be close to 100 percent.



Choice B: According to trade-off theory, companies would be expected to have a value-maximizing debt level where the marginal benefits of a tax shield equal the marginal bankruptcy-related costs.



Choice C: In a MM world with perfect capital markets, a company’s weighted average cost of capital is constant and the company’s capital structure does influence it stock price.
87.
C  
G = (1– Payout)(ROE) = (1 - 0.4)(0.25) = 0.15 OR 15%.

88.
D.

89.
B   
Investors buy long when they believe a stock is underpriced and want to take advantage of an expected increase in the price.
90.
B  
Choice A: The portfolio manager is to diversify to eliminate unsystematic risk. Choice C: The portfolio manager is to minimize both taxes and total transaction costs.

91.
C   


92.
C   P2 = D3 / (k - g) = $5 / (0.15 - 0.08) = $71.4 



P0 = [n = 2;i= 15%; FV = $71.4] =$53.99
93.
B  
P/E = (dividend payout ratio)/(k-g) = 0.5/(0.15-0.1)=10
94.
B   

95.
B  
Step 1 : Calculate the PV of the individual free cash flows.


PV of FCF 1
 =$5/(1.3)1
 =$3.85


PV of FCF 2
 =$l0/(1.3)2
 =$5.92


PV of FCF3
 = $15/(1.3)3
 = $ 6.83


PV of FCF 4
 = $20/(1.3)4
 = $7.60



PV of FCF 5
 = $25/(1.3)5
 =$6.73



Total:



 
=$30.33


Step 2: Calculate the present value of the predicted company value in five years 



Price in Year 5 = (final free cash flow)(FCF multiple) =$25 x 30 = $750


PV of price in Year 5 =$750/(1.3)5 =$202



Step 3: Add the PV of individual FCF and PV of price in year 5 =$30.33+$202=$232.33million.
96.
D    
97.
C  
Government sponsored enterprises issue securities directly in the marketplace but federally related institutions generally do not. 
98.
B.

99.
B  
n = 10, i = 4.5, FV= 500, compute PV = $321.96.
100.
B   
Modified duration (MD) = (Macaulay duration)/(l + yield/k)



First change Macaulay duration to modified duration.



MD = 8.3/(1 +0.13/2) = 7.79



∆P/P=(-)(MD)( ∆i)



∆P/P=(-)(7.79)(+0.0080)=-0.06232 or 6.23%

101.
C   


102.
B   
103.
C   
This is an out-of-the-money covered call. The stock can go up $8 to the strike price and then the writer will get $5 for the premium. Thus, the maximum profit is $13.
104.
D   

105.
D
106.
B  
REITS must hold each investment for at least 10 years.
107.
B  
RRFR = [(1 + NRFF)/(1 + rate of inflation) -1=[(1 + 0.1)/(1 + 0.04)]-1 =0.05769 = 5.77%
108.
A  
The SML will shift upward in parallel fashion, if inflation expectations increase
109.
A  
110.
D

111.
A   

112.
B  
Supply and demand are governed by many factors, both rational and irrational.
113.
A  
The short interest ratio is an example of other market environment indicators.
114.
C    
115.
D.

116.
C.

117.
A.

118.
B

119.
D

120.
C
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